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Taof

GDP = yomwansuaiaas w18 UL LM A(Gross Domestic Product)
MU0 : AU

cP = YoM U3 Inauoen1nensu (Private consumption)
9w : U

NV = YaIMIAINUYBINIANFY (Private investment)
M2 : §1UDM

GOV = yamms 1991899955110 (Government expenditure)
MW : 81U

EX = yammsasesndudmasuSas Export)
Y28 : 1

M = yarmmsduddudwazuinig (mport)
MW : LM |

MS = yamUTnmisulussuinasugie (Money supply)
MU0 : 91U

TAX = YamMENI3165 V09T TUNG (Taxation)
MU0 : A1UUMN

OL = 3,1"aﬁﬁ'Iﬂ115‘1ﬁm§ﬂma~imﬂ1uﬂ‘imﬂﬁ(Oilprice)
U : UINADAAT

: 4 A .
r = yamonsaenileniivua laesuintsuvisdssma’lne (nterest rate)

vule:Souas
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List of additional temporary variables created:

dGDP = GDP-GDP(-1} dGOV12 = GOVI1(-2)-GOV1(-3)
dGDP1 = GDP(-1)-GDP(-2) dEX12 = EX1(-2)-EX1(-3)
dTAXI = TAX(-1)-TAX(-2) dMS2 = MS(-2)-MS(-3)

dOIL1 = OIL{~1)-OIL{-2) dGDP3 = GDP(-3)-GDP(-4)
dINV1 = INV(-1)-INV{(-2) dTAX3 = TAX(-3)-TAX(-4)
dGOV1 = GOVI1(-1)-GOV1(-2) dOIL3 = OIL(-3)}-0IL(-4)

dEX1 =EX1{-1)-EX1(-2) dINV3 = INV(-3)-INV(-4)
dMSI1 = MS(-1)-MS(-2) dGOV13 = GOVIi(-3)-GOV1(-4)
dGDP2 = GDP(-2)-GDP(-3) dEX13 = EX1(-3)-EX1{-4)
dTAX2 = TAX(-2)-TAX(-3) dMS3 = MS(-3)-MS(-4)

dOIL2 = OIL(-2)-OIL(-3)
dINV2 = INV(-2)-INV(-3)

ecml =

ecmz =

ecm3 =

ecmd =

ecms =

ecmb =

1.0000*GDP -8.5580*TAX -25586.1*OIL + .84658*INV -2.7982*GOV
+ 38658*EX + 1.1566*MS -14844.3*Trend

1.0000*GDP -5.5566*TAX -29722.5%0IL -.19603*INV -.16459*GOV
- .061081*EX + .69604*MS -14801.1*Trend

1.0000*GDP -5.0940*TAX + 6871.1*OIL + .53463*INV -.19026*GOV
+ .T1398*EX + .42630*MS -16776.3*Trend

1.0000*GDP -3.4754*TAX -10201.7*0IL -.64208*INV -1.5693*GOV
- LOOS0*EX + .43346*MS -7307.0*Trend

1.0000*GDP + 3.6340*TAX + 54478.8*0IL -1.3998*INV -.065830*GOV
- LI9I3*EX -74262*MS -4194.0*Trend

1.0000*GDP -3.1821*TAX -31626.4*OIL -.51530*INV -1.3984*GOV
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- 12797*EX + 27856*MS -11326.1*Trend

Madfima q veannliudassesiy (BCM) vowraunbwinstanitariumehnlssma

R-Squared 98106 R-Bar-Squared .92941
S.E. of Regression 10654.2 F-stat, F(30, 11) 18.9929[.000]
Mean of Dependent Variable 18160.9 8.D. of Dependent Variable 40099.5
Residual Sum of Squares 1.25E+09 Equation Log-likelihood -420.9561
Akaike Info. Criterion -451.9561 Schwarz Bayesian Criterion -478.8900
DW-statistic 29014 System Log-likelihood -2877.4
Diagnostic test

Test statistics LM version F version
A: Serial Correlation CHSQ( 4)= 28.0578[.000] F( 4, 7)= 3.5218[.070]
B: Functional Form CHSQ{ 1)= 2.3061[.129] F( 1, 10)= .58096[.464]
C: Normality CHSQ( 2)= 13.3802[.001] Not applicable
D: Heteroscedasticity CHSQ( 1)= .45420[.500] F( 1, 40)= .43730[.512]

A: Lagrange multiplier test of residual serial correlation

B: Ramsey's RESET test using the square of the fitted values

C: Based on a test of skewness and kurtosis of residuals

D: Based on the regression of squared residuals on squared fitted values
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List of additional temporary variables created:

dCP = CP-CP(-1)

dCP1 = CP(-1)-CP(-2)
dTAX1 = TAX(-1)-TAX(-2)
dOIL1 = OIL(-1}-O1L(-2)
dINV1 = INV(-1)-INV(-2)
dGOV1 = GOV(-1)-GOV(-2)
dEX1 = EX(-1)-EX(-2)
dMS| = MS(-1)-MS(-2)
dCP2 = CP(-2)-CP(-3)
dTAX2 =TAX(-2)-TAX(-3)
dOIL2 = OIL(-2)-OIL(-3)

dGOV2 = GOV(-2)-GOV(-3)
dEX2 = EX(-2)-EX(-3)
dMS2 = MS(-2)-MS(-3)
dCP3 = CP(-3)-CP(-4)
dTAX3 = TAX(-3)-TAX(-4)
dOIL3 = OIL(-3)-OIL(-4)
dINV3 = INV(-3)-INV(-4)
dGOV3 = GOV(-3)-GOV(-4)
dEX3 = EX(-3)}-EX(-4)

dIM3 = IM(-3)-IM(-4)

dMS3 = MS(-3)-MS(-4)

dINV2 = INV(-2)-INV(-3)

ecml = 1.0000*CP -22268*TAX -551.0955*%0IL -.24685*INV -1.3065*GOV
- 14319*EX  -029459*MS -951252

ecm2 = 1.0000*CP + 3.2824*TAX -12644.9%*0IL -3.3008*INV -4.4643*GOV
= 1.3957*EX -.34251*MS +- 264713.5

ecm3 = 1.O00G*CP -11.0067*TAX -25438.3*QIL + 6.6429*INV -12.5029*GOV
+ 5.92I4*EX  + .79330*MS -164367.9

ecm4 = 1LO0OD*CP + 1.9091*TAX + 5929.5*OIL -1.1479*INV -.14600*GOV
=59198*EX  -26874*MS -174598.1

ecm3 = 1.0000*CP + 11.3497*TAX +55325.3*0IL -4.8762*INV -8.1976*GOV
-3.7455*EX -.73978*MS + 351116.3

ecm6 = 1.0000*CP -.67729*TAX -7153.6*0IL + .072488*INV -1.1054*GOV
+ 42171*EX -.017731*MS -132791.9

ecm7 = 1.0000¥CP + 2.3940*TAX + 21479.0*%OIL + 1.8887*INV + 3.4912*GOV
+ 25107*EX -.58079*MS -990453.3

ecm8= 1.0000*CP+ 2.7928*TAX + 19104.2*0IL -1.4448*NV + 3.1561*GOV
= 92R13*EX -.45336*MS -419464.4
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fadfn 4 veamaliuiszezdu (@cM) vesudsmavilnavesninenyy

R-Squared 94349 - R-Bar-Squared 76833
S.E. of Regression 54673 F-stat. F(31, 10) 5.3862[.004]
Mean of Dependent Variable 3216.2 S.D. of Dependent Variable 113589
Residual Sum of Squares 2.99E+08 Equation Log-likelihoed ~390.9336
Akaike Info. Criterion -422.9336 Schwarz Bayesian Criterion -450.7363
DW-statistic 2.3534 System Log-likelihood -2727.6
Diagnostic test

Test statistics LM version F version
A:Serial Correlation CHSQ( 4)= 31.8838[.000] F( 4, 6)= 4.7276[.046]
B:Functional Form CHSQ( 1)= .12421(.725] E( 1, 9)= .026696[.874]
C:Normality CHSQ( 2)= 1.0470[.592] Not applicable
D:Heteroscedasticity CHSQ( 1)= 3.0789[.079] F( 1, 40)= 3.1642[.083]

A:Lagrange multiplier test of residual serial correlation
B:Ramsey's RESET test using the square of the fitted values
C:Based on a test of skewness and kurtosis of residuals

D:Based on the regression of squared residuals on squared fitted values
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List of additional temporary variables created:

dTAX = TAX-TAX(-1) dTAX2 = TAX(-2)-TAX(-3)
dTAX1 =TAX(-1)-TAX(-2) dOIL2 = OIL(-2)-OIL(-3)
dOIL1 = OIL{-1)-OI1L{-2) dINV2 = INV(-2)-INV(-3)
dINV1 = INV(-1)-INV(-2) dGOV2 = GOV(-2)-GOV(-3)
dGOV1 = GOV(-1)-GOV(-2) dEX2 = EX(-2)-EX(-3)

dEX1 = EX(<1)>-EX(-2) dMS2 = MS(-2)-MS8(-3)

dMS1 = MS(-1)-MS(-2}

ecml = L.00OOO*TAX + 627.5828*0IL -.2R918*INV -.18679*GOV -.12342*EX
- 11035*MS + 1011.0*Trend

eem2 = 1.0000*TAX + 2803.0%0IL -36565*INV + .97897*GOV -.19473*EX
-057968*MS -1448.6%Trend

ecm3 = 1.0000*TAX -4198.0*OIL -.49186%INV -.0624583*GOV -24460*EX
+ .026768*MS + 409.3193*Trend

ecmd = LOOOO*TAX + 25666.1*0IL -.12899*INV + .59969*GOV -.12203*EX
+ .12162*MS -5467.1*Trend

M dAn § veanslfudszasdu (ECM) veadhusmi

R-Squared 93600 R-Bar-Squared

S.E. of Regression 10750.9 F-stat. F( 18, 24)

Mean of Dependent Variable 3341.3 S.D. of Dependent Variable
Residual Sum of Squares 2.7TE+H09 Equaticn Log-likelihood
Akaike Info. Criterion -466.6348 Schwarz Bayesian Criterion

DW-statistic 1.8491 System Log-likelihood

.88799
19.4985[.000]
32123.3
-447.6348
-483.3662
-2806.9
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Diagnostic test
Test statistics LM version F version
A:Serial Correlation CHSQ( 4)= 5.2082[.267] F( 4, 20)= .68907[.608]
B:Functional Form CHSQ( 1)=.0019280[.965] F( 1, 23)=.0010313[.975]
C:Normality CHSQ( 2)= .69391[.707] Not applicable
D:Heteroscedasticity CHSQ( 1)= .29582[.587] F( 1, 41)= .28402[.597]

A:Lagrange multiplier test of residual serial correlation
B:Ramsey's RESET test using the square of the fitted values
C:Based on a test of skewness and kurtosis of residuals

D:Based on the regression of squared residuals on squared fitted values
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List of additional temporary variables created:

dINV = INV-INV(-1)
dINV1 = INV(-1)-INV(-2)
dTAX1 =TAX(-1)-TAX(-2)
dOIL1 = OIL(-1)-OIL{(-2)
dGOV1 = GOV({-1)-GOV(-2)
dEX1 = EX(-1)-EX(-2)

dINV2 = INV(-2)}-INV(-3)
dTAX2 =TAX(-2)-TAX(-3)
dOIL2 = OIL{-2)-0IL{-3)
dGOV2 =GOV(-2)-GOV(-3)
dEX2 = EX(-2)-EX{(-3)
dMS1 =MS(-1)-MS(-2)
dMS2 =MS(-2)-MS(-3)

12882.7*R -10.6116*GOV

ecml =  1.OOOO*INV -9.8454*TAX -178644.6*OIL +
+1.6574*EX + 20201*MS

ecm2= 1.0000*INV + .42279*TAX +119928.9*QJL + 27125.9*R - 5.1805%GOV
-.69989*EX -1.0357*MS

ecm3 = 1.0000*INV -.54058*TAX -1825.6*0IL -13395.8*R -.49051*GOV
+ .90976*EX -.11118*MS

cemd =

+ LI768*EX + .13620*MS

LOO0O*INV  -1.9240*TAX -25418.1*0IL -15591.9*R -.18923*GOV

mafiia  veanliuiszsedu (ECM) vesfualsmInsguveamaenyu

R-Squared .83058
S.E. of Regression 254293
Mean of Dependent Variable 17554
Residual Sum of Squares 1.36E+10
Akaike Info. Criterion -503.7830
DW-statistic 2.2344

R-Bar-Squared
F-stat. F(21, 21)

S.D. of Dependent Variable
Equation Log-likelihood

Schwarz Bayesian Criterion

System Log-likelihood

46116
2.7117[.013]
34642.1
-481.7830
-523.1562
-2842.8
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Diagnostic test
Test statistics LM version F version
A:Serial Correlation CHSQ( 4)= 8.2610[.082] F( 4, 17)= 1.0107[.429]
B:Functional Form CHSQ( 1)= 6.0525[.014] F( 1, 20)= 3.2763[.085]
C:Normality CHSQ( 2)= 2.2547[.324] Not applicable
D:Heteroscedasticity CHSQ( _1)= .016413[.898] F( 1, 41)= .015656[.901]

A:Lagrange multiplier test of residual serial correlation
B:Ramsey's RESET test using the square of the fitted values
C:Based on a test of skewness and kurtosis of residuals

D:Based on the regression of squared residuals on squared fitted values
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List of additional temporary variables created:

dIM = IM-IM(-1}

dIM] = IM(-1)-IM(-2)
dTAX]1 = TAX(-1}-TAX(-2)
dOIL1 = OIL(-1)-0OIL{-2)
dINV1 = INV(-1)-INV(-2)
dGOV1 = GOV(-1)-GOV(-2)
dEX1 = EX(-1)-EX{(-2)
dMS1 = MS(-1)-MS(-2)
dIM?2 = IM(-2)-IM(-3)
dTAX2 = TAX(-2)-TAX(-3)
dOIL2 = OIL(-2}-0IL(-3)

dINV2 = INV(-2)}-INV(-3)
dGOV2 = GOV(-2)-GOV(-3)
dEX2 = EX(-2)-EX(-3)
dMS2 = MS(-2)-MS(-3)
dIM3 = IM(-3)-IM(-4)
dTAX3 = TAX(-3)-TAX(-4)
dOIL3 = OIL(-3)-OIL(-4)
dINV3 = INV(-3)-INV(-4)
dGOV3 = GOV(-3)-GOV(-4)
dEX3 = EX(-3)-EX(-4)
dMS3 = MS(-3)-MS(-4)

ecml = 1.0OGOO*IM + 2.7910*TAX -13424.4*0IL -1.3268*INV + 1.9340*GOV
- 71583*EX -32403*MS

ecm2=L0000*IM + 3.1803*TAX + 8892.1*0IL -1.1382*INV -+ .15329*GOV
- 76895*EX -.33884*MS

ecm3 = 1.0000*IM + 5.2341*TAX -15410.3*0IL -1.1757*INV + .98912*GOV
+ S6105*EX -1.0546*MS

ecm4 =  1.0G0G*IM + 11.7586*TAX + 52389.2*0IL -4.4368*INV -.57777*GOV

= 2.6436%EX -.15573*MS

MdAn 9 veansiuisrasdu (ECM vewunimmintiduduazuing

R-Squared

S.E. of Regression

Mean of Dependent Variable
Residual Sum of Squares
Akaike Info. Criterion

DW-statistic

.80653
25002.7
15263.1

1.06E+10
-490.9249
2.4548

R-Bar-Squared

F-stat. F(24, 17)

S.D. of Dependent Variable
Equation Log-likelihood
Schwarz Bayesian Criterion

System Log-likelihood

53339
2.9528[.012]
36602.4
-465.9249
-512.6458
-2685.8
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Diagnostic test
Test statistics LM version F version
A:Serial Correlation CHSQ( 4)= 16.5083[.002] F( 4, 13)= 2.1047[.138]
B:Functional Form CHSQ( 1)= .27557[.660] E( 1, 16)= .10567{.749]
C:Normality CHSQ( 2= 1.8512[.396] Not applicable
D:Heteroscedasticity CHSQ( 1)= .092603[.761] F( 1, 40)= .088388[.768]

A:Lagrange muitiplier test of residual serial correlation
B:Ramsey's RESET test using the square of the fitted values
C:Based on a test of skewness and kurtosis of residuals

D:Based on the regression of squared residuals on squared fitted values
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List of additional temporary variables created:

dMD = MS-MS(-1) dMD2 = MS(-2)}-MS8(-3)
dMD1 = MS(-1)-MS(-2) dTAX2 = TAX(-2)-TAX(-3)
dTAX1 = TAX(-1}-TAX(-2) dOIL2 = OIL(-2)-0IL(-3)
dOIL1 = OIL{-1)-OIL(-2) dINV2 = INV(-2)-INV(-3)
dINV1 = INV(-1)-INV(-2) dGOV2 = GOV(-2)-GOV(-3)
dGOVI = GOV(-1)-GOV(-2} dEX2 = EX(-2)-EX(-3)

dEX1 = EX(-1)-EX(-2)

ecml = 1.0000*MD + 3.6351*TAX + 1366.0%0IL - 31.8409%[NV-75.6532*GOV
-30.7253*EX +582130.3

ecm2=1.0000*MD -10.1877*TAX -28869.3*QIL + 4.6937*INV -5.6952*GOV
+ 2.6452*EX + 222882.8

ecm3 = 1.0000*MD -3.4814*TAX -95330.3*OIL -5.3828*INV -9.2679*GOV
-4.0059*EX + 2230455

ecm4 =1.0000*MD -13.2313*TAX + 23958.4*0IL + 5.8741*INV -73270*GOV
+ 3.7738*EX -1234560

ecm5 = LO0OO*MS -37.2590*TAX -272559.3*QIL -4.4073*INV -68.7493*GOV
+ 13.0762*EX + 972241.5

ecm6 = 1.0000*MD -2.6106*TAX + 87850.9*%0IL -3.6734*INV -19.3576*GOV
-7.7891*EX + 1032015

ecm7 = 1.0000*MD -7.5014*TAX + 13045.1*0IL -.089335*INV + 4.7855*GOV
-3.2481*EX -376727.6
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Aiadasi 4 veanaliudaszasdu (ECM) vesnlsgqumedntideiiu

R-Squared 87907 R-Bar-Squared 74604
S.E. of Regression 352272 F-stat. F(22, 20) 6.6082[.000]
Mean of Dependent Variable 36078.2 5.D. of Dependent Variabie 69902.9
Residual Sum of Squares 2.48E+10 Equation Log-likelihood -494.7485
Akaike Info. Criterion -517.7485 Schwarz Bayesian Criterion -538.0023
DW-statistic : 2.4735 System Log-likelihood -2672.2
Diagnostic test
Test statistics LM version F version
A:Serial Correlation CHSQ( 4)= 13.2202[.010] ~ F( 4, 16)= 1.7757[.183]
B:Functional Form CHSQ( 1)= 18.6182[.000] F( 1, 19)= 14.5086[.001]
C:Normality CHSQ( 2)= 2.2405[.326] Not applicable
D:Heteroscedasticity CHSQ( 1= 18.1308[.000] F( 1, 41)= 29.8910[.000]

A:Lagrange multiplier test of residual serial correlation
B:Ramsey's RESET test using the square of the fitted values
C:Based on a test of skewness and kurtosis of residuals

D:Based on the regression of squared residuals on squared fitted values
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List of additional temporary variables created:

dR =R-R(-1) dR2 = R(-2)-R(-3)

dRI =R(-1)-R(-2) dTAX2Z == TAX(-2)-TAX(-3)
dTAX1 =TAX(-1)-TAX(-2) dOIL2 = OIL(-2)-0IL(-3)
dOIL1 = OIL(-1)-OIL(-2) dINV2 = INV(-2)-INV(-3)
dINV1 = INV(-1)-INV(-2) dGOV2 = GOV(-2)-GOV(-3)
dGOV1 = GOV(-1)-GOV(-2) dEX2 = EX(-2)-EX(-3)
dEX1 = EX(-1)-EX{-2) dMS82 = MS(-2)-MS(-3)

dMS1=MS(-1)-MS(-2)

ecml = 1.0000*R -.9189E-3*TAX -1.7150*QIL + .1929E-3*INV -.1461E-3*GOV +.3743E-3*EX —
+ 9668E-4*MS + .019720*Trend

ecm2 = 1.0000%R -.7760E-4*TAX + 4.4127%0IL + .8301E-4%INV + .5284E-4*GOV -.1 828E-4*EX —
-.3856E-4*MS + .54742*Trend

ecm3 = 1.0000*R -.1190E-3*TAX + .16968*OIL + .7265E-5*INV -.1341E-4*GOV -.1665E-4*EX
+.1063E-4*MS +.30953*Trend

ecmd = 1.0000%R +.7905E-4*TAX -.65180*OIL -.4800E-4*INV -.1889E-3*GQV -.4649E-4*EX
-.2008E-4*MS + 1.0353*Trend

enadifnd i q veamsludaszesiu (ECM) vesanlsgiaeinsieiiy

R-Squared 71463 R-Bar-Squared 45520

S.E. of Regression 71606 F-stat, F(20, 22) 2.7546[.012]
Mean of Dependent Variable -.14535 5.D. of Dependent Variable .97014
Residual Sum of Squares 11.2804 Equation Log-likelihoed -32.2445
Akaike Info. Criterion -53.2445 Schwarz Bayesian Criterion -71.7371

DW-statistic 1.9294 System Log-likelihood -2874.7
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Diagnostic 'Tests
Test Statistics LM Version F Version
A:Serial Correlation CHSQ( 4)= 13.5294[.009] F( 4, 18)= 2.0659[.128)
B:Functional Form CHSQ( 1)= 33.0540[.000] F( 1, 21)= 69.7901{.000]
C:Nommality CHSQ( 2= 2.7046[.259] Not applicable
D:Heteroscedasticity CHSQ( 1)= 14.4057[.000] F( 1, 41)= 20.6557[.000]

A:Lagrange multiplier test of residual serial correlation
B:Ramsey's RESET test using the square of the fitted values
C:Based on a test of skewness and kurtosis of residuals

D:Based on the regression of squared residuals on squared fitied values
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AIaSAlURIIMATeY unit root, A,__ uax A

mMInaaeyved Dickey-Fuller

Critical values for

Model Hypothesis Test Statistic 95% and 99%

Confidence Intervals

Ay, = O+ Yy, + OLt+E, Y=0 Te -3.45 and -4.04
Ol =0 givenY =0 Tor 3.11 and 3.78
O,=0givenY =0 TRt 2.79 and 3.53
Y =0,=0 0, 6.49 and 8.73
=7 =0, =0 b, 4.88 and 6.50
Ay, = o+ vy, + g, Y =0 Ty -2.89 and -3.51
O, =0giveny =0 Top 254 and 3.22
QL=7=0 ¢, 471 and 6.70
Ay, = vy, + €, Y =0 T -1.95 and -2.60
‘f‘im : Walter Enders, 1995

vy ¢ Critical values are for a sample size of 100.
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Empirical Cumulative Distribution of T

Probability of a Smaller Value
Sample Size 0.01 0.025 0.05 0.10 0.90 0.95 0.975 0.99

Empirical Distribution of T for (D)=(1)in Y,=pY,, +&,

25 -2.66 -2.26 -1.95 -1.60 0.92 1.33 L.70 2.16
50 -2.62 -2.25 -1.95 -1.61 0.91 1.31 1.66 2.08
100 -2.60 -2.24 -1.95 -1.61 0.90 1.29 1.64- 2,03
250 -2.58 -2.23 -1.95 -1.62 0.89 1.29 1.63 201
500 -2.58 -2.23 -1.95 -1.62 0.89 1.28 1.62 2.00
o0 -2.58 -2.23 -1.95 -1.62 (.89 1.28 1.62 2.00

Empirical Distribution of T, for ((e,) = (Q,1) in Y, = O+ PY,, +€,

25 -3.75 -3.33 -3.00 -2.62 -0.37 0.00 0.34 0.72
50 -3.58 -3.22 -2.93 -2.60 -0.40 -0.03 0.29 0.66
100 -3.51 -3.17 -2.89 -2.58 -0.42 -0.05 0.26 0.63
250 -3.46 -3.14 -2.88 -2.57 -0.42 -0.06 0.24 0.62
500 -3.44 -3.13 -2.87 -2.57 -0.43 -0.07 0.24 0.61
0 -3.43 -3.12 -2.86 -2.57 -0.44 -0.07 0.03 0.60

Empirical Distribution of T for (Q,,0,00,) = (Cl,1,Q,) in Y, = O+ PY,, +OLt +E,

25 -4.38 -3.95 -3.60 -3.24 -1.14 -0.80 -0.50 -0.15
50 -4.15 -3.80 -3.50 -3.18 -1.19 -0.87 -0.58 -0.24
100 -4.04 -3.73 -345 -3.15 -1.22 -0.90 -0.62 -0.28
250 -3.99 -3.69 -3.43 -3.13 -1.23 -0.92 -0.64 -0.31
500 -3.98 -3.68 -3.42 -3.13 -1.24 -0.93 -0.65 -0.32

o0 -3.96 -3.66 -3.41 -3.12 -1.25 -0.94 -0.66 -0.33
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Empirical Cumulative Distribution of T (continued)

Probability of a Smaller Value
Sample Size 0.90 0.95 0975 0.99

Empirical Distribution of Tor.u for (L, P)=(0,1)

inY, =0+ PY,+8,

25 2.20 2.61 2.97 241
50 2,18 2.56 2.89 3.28
100 2.17 2.54 2.86 3.22
250 2.16 2.53 2.84 3.19
500 2.16 2.52 2.83 3.18
Q0 2.16 2.52 2.83 3.18

Empirical Distribution of Typ for (OL,P,0L,) = (0,1,QL,)
in YI = a’o+ th-l +a‘zt +81

25 2.77 3.20 3.59 4.05
50 2.5 3.14 347 3.87
100 2.73 3.11 342 3.78
250 273 3.09 3.39 3.74
500 2.72 3.08 3.38 3.72
0 212 3.08 3.38 3.71

Empirical Distribution of Tpy for (O,P,00,) = (X,1,0)
in Y, =0+ PY,, +OL,t +€,

25 2.39 2.85 3.25 374
50 238 2.81 3.18 3.60
100 2.38 2.79 3.14 3.53
250 2.38 2.79 3.12 3.49
500 2.38 2,78 311 3.48
S8 2.38 2,78 3.11 3.46

*ﬁm 1 Walter Enders, 1995 1az David A. Dickey and Wayne A. Fuller,1981
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Empirical Distribution of @

Sample Size 0.01 0.025  0.05 0.10 0.90 0.95 0975  0.99

Empirical Distribution of @, for (0L, P)=(0,1) in Y,= Ol + PY, +E,

25 0.29 0.38 0.49 0.65 4.12 5.18 6.30 7.88
50 0.29 0.39 0.50 0.66 3.94 4.86 5.80 7.06
100 0.29 0.39 0.50 0.67 3.86 4,71 5.57 6.70
250 0.30 0.39 0.51 0.67 2.81 4.63 545 6.52
500 0.30 0.39 0.51 0.67 3.79 4.61 5.41 6.47
QD 0.30 0.40 0.51 0.67 3.78 4.59 5.38 6.43

Empirical Distribution of @, for (0(,P,Q,) = (0,1,0)in Y, = Qe+ PY,, +0L,t +E,

25 0.61 0.75 0.89 L.10 4.67 5.68 6.75 8.21
50 0.62 0.77 091 1.12 431 5.13 5.94 7.02
100 0.63 0.77 0.92 1.12 4.16 4.88 5.59 6.50
250 0.63 0.77 0.92 1.13 4.07 4.75 540 6.22
500 0.63 0.77 0.92 1.13 4,05 4.71 5.35 6.15
0 0.63 0.77 0.92 1.13 4.03 4.68 5.31 6.09

Empirical Distribution of @, for (Cl,,P,0L,) = (0l,,1,0}in Y,= O+ PY,, +OLt +E,

25 0.74 0.90 1.08 1.33 591 724 8.65 10.61
50 0.76 0.93 1.11 1.37 5.61 6.73 7.81 9.31
100 0.76 0.94 .12 1.38 547 6.49 7.44 8.73
250 0.76 0.94 1.13 1.39 5.39 6.34 7.25 8.43
500 0.76 0.94 1.13 1.39 5.36 6.30 7.20 8.34
5. 0.77 0.94 1.13 1.39 5.34 6.25 7.16 8.27

‘ﬁ:m : Walter Enders, 1995 uag David A. Dickey and Wayne A. Fuller, 1981.
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Distribution of the lm and l,,m Statistics
.80 90 95 975 .99
A and A, Statistics with trend drift
n-r Kmx
1 1.699 2.816 3.962 5.332 6.936
2 10.125 12.099 14.036 15.810 17.936
3 16.324 18.697 20.778 23.002 25.521
4 22,113 24.712 27.169 29.335 31.943
5 27.889 30.774 33.178 35.546 38.341
A
1 1.699 2.816 3.962 5.332 6.936
2 11.164 13.338 15.197 17.299 19.310
3 23.868 26.791 29.509 32.313 35.397
4 40.250 43.964 47.181 50.424 53.792
5 60.215 65.063 68.905 72.140 76.955
Km and 7\.,m Statistics without trend or constant
}\'max
1 4.905 6.691 8.083 9.658 11.576
2 10.666 12.783 14.595 16.403 18.782
3 16.521 18.959 21.279 23.362 26.154
4 22.341 24917 27.341 29.599 32.616
5 27.953 30.818 33.262 35.700 38.858
A
1 4.905 6.691 8.083 9.658 11.576
2 13.038 15.583 17.844 19.611 21.962
3 25445 28.436 31.256 34.062 37.291
4 41.623 45.248 48.419 51.801 55.551
5 61.566 65.956 69.977 73.031 71911
lm and 7\,“@ Statistics a constant in the cointegrating vector
A"max
I 5.877 7.563 9.0%4 10.709 12.740
2 11.628 13.781 15.752 17.622 19.834
3 17.474 19.796 21.8%4 23.336 26.409
4 22938 25.611 28.167 30.262 33.121
5 28.643 31.592 34.397 36.625 39.672
A
1 5.877 7.563 9.0%4 10.709 12.741
2 15.359 17.957 20.168 22.202 24.988
3 28.768 32.093 35.068 37.603 40.198 -
4 45.635 49.925 53.347 56.449 60.054
5 66.624 71.472 75.328 78.857 82.969

‘ﬁm : Walter Ender, 1995
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